X

N ) )

ERGRCESH gﬁ?ﬁﬂ &) 9 g & @iel oi§ ad ®al 1 oY | /Do not open this Question Booklet until you are asked to do so.

gt # gsol BT &= ¢ 32
No. of Pages in Booklet : 32
gRaeET | yeAl B GE ;150
No. of Questions in Booklet : 150
Paper Code : 29

ALP-23

SUBJECT : MUSIC (VIOLIN) -I

PAPER-1

1obpfh bak

[wlis]s]
e gk

2100061
opooieg

‘ON 193j00g uonsang)

b 5k

97 : 03 "ue+10 e arfaRear
Time : 03 Hours+10 Minutes Extra*

JIFHaT 3fF : 75
Maximum Marks: 75

7 qRaET & YR B e/ GifARE 4T P wier wR e U g wed W gd e 7w gifed v o s -
e RET < AT S GHAR. STR-UF% W A aNSBIS HEl T T |
o v QROGT TF SNTAIR. STR-UFE & W g% T Wi T WE g &1 AR e S (6 Sue aiia 8, suerel § q1 I 41 7o

WE gRA®T I $Y o | I8 gErRad @k @ Ry anell @ g |

fael oft wr o fmRy a7 Sl
o UR B & 5 e gean o R g/ amafRy W

T TE R/ SERS
A B w® weneil dere |

e =&t e S |

On opening the paper seal/polythene bag of the Question Booklet before attempting the question paper the candidate should ensure that:-
Question Booklet Number and Barcode Number of OMR Answer Sheet are same.
All pages & Questions of Question Booklet and OMR Answer Sheet are properly printed. All questions as mentioned above, are available

and no page is missing/misprinted.

If there is any discrepancy/defect, candidate must obtain another Question Booklet from Invigilator. Candidate himself shall be responsible for
ensuring this. No claim/objection in this regard will be entertained after five minutes of start of examination.

e & fa Bdw INSTRUCTIONS FOR CANDIDATES
1. TeE 9 D BR ve Reer WA afar 21 i Itis ma‘n'dat-ory to fill one option for each question.
5 @l F & aip ) .3. Sll]quesnom carry eq;)l:l markfs:. ) .
J ke e o1 T T 8 w4 o % s @ | Ot ot g o s
P T A e B @l Rl ! 4. The OMR Answer Sheet is inside this Question Booklet. When you are
4. OMR StR-73% 30 Ue IRA®T & 3=} X@1 8| Od 195! T directed to open the Question Booklet, take out the Answer Sheet and fill
f U?_EI’IFF:T P HET WY, A STR—T=S Pl B e | Dae et in the particulars carefully with BLUE BALL POINT PEN only.
dfe @ige U9 | fawer ¥ | s Please correctly fill your Roll Number in OMR Answer Sheet. Candidate
5. PR U Vel AR MTAANR. TIR-THF R AQAES T R | will themselves be responsible for filling wrong Roll Number.
Terd e =R R ) gdeneli Wy Sverl 2R 6.  1/3 part of the mark(s) of each question will be deducted for each
6. UG T TR @ fY W 3 BT 1,/3 AN HIET SR | Tefdl ST WrONg answer. A wrong answer means an incorrect answer or more than
A AR g IR A 5 f v B uE ¥ afd o @ 2 e SNEEsINE Ay restion.
) i e Ry E R 1.2, 3, 4 5 3R 7. gx]l: quesltion has. fi;!e((l))pt;(l))llls) l.uz:lr‘ke;i. astll., 2,3, 4,[5. You haveutlo
: arken only one circle (bubble) indicating the correct answer on the
ar T &1 el @ v SR P aRd gy o @ S 0w Answer Sheet using BLUE BALL POINT PEN.
et (a9) P STR-T T et dfer e o7 W M 5 %ﬁl 8. If you are not attempting a question, then you have to darken the
8. ?‘? Sl g:;r fﬁaﬂ'z Hf?‘ﬂ : I‘ﬁga €, T SR A 6) ot circle ‘5°. If none of the five circles is darkened, one third (1/3) part of
T Y| RIS g 4 e TEw TE A o 8, o & the marks of question shall be deducted.
' v & ol ue 3% @ E, /3 | BT S| ] 9.* After solving the question paper, candidate must ascertain that he/she
0¥ YT UF B v @ 9uvid el IfFan! w9 9 M yHAR. araw e has darkened one of the circles (bubbles) for each of the questions.
w o & e & R 1o fawer (Men) == R T 3| w9 E f 10 b I d
i L] TH TR T 7| xtra time of 10 minutes beyond scheduled time is provided for this.
fardy & FiRa g9a ¥ 10 fe &1 sifiRes waa faar mar 8 10. A candidate who has not darkened any of the five circles in more than
10. afk araeff 10% W it wAt ¥ wig Rwew § & #E A fwew sifeq 19% quiestions shull be disqualified.
. :a Y aRi{T W SR | 11. If there is any sort of ambiguity/mistake either of printing or factual
4. ufe f el E‘FI N & B S & ?ﬁ & nature, then out of Hindi and English Version of the question, the English
; : ; g ) ’ Version will be treated as standard.
ar e % BT TR 3 ﬁvfs_[ ik _E A 3113'5? wT \ IHWJ’E’ITI'II 12. Mobile Phone or any other electronic gadget in the examination hall is
12. ATES A derdl geragie 43 B ade g F gEe Qo afsid strictly prohibited. A candidate found with any of such objectionable
off < y )
21 ol R anaefl & o aﬂi‘ﬁaﬁﬁ arft P € df 9Ee material with him/her will be strictly dealt as per rules.
& PRI ! Warning : If a candidate is found copying or if any unauthorized material is
5 \ pymg y
I ¢ AR B g \m PR TBST el § Al Gﬂ?ﬁ 9 ¥ P13 | found in hisfher possession, F.LR. would be lodged against him/her in the
safpa g e 2, o 99 enweff @ v gfer ¥ orfiel <l | Police Station and he/she would lisble to be prosecuted under Rajasthan
TR BV AR IR wrdwfe wder (i # gl wwmEl @ Jwers | Public Examination (Measures for Prevention of Unfair means in
FegurE) AW, 2022 TR I YA I T ST & gl Recruitment) Act, 2022, other law applicable and Commission’s
3 ded FTTE ) S | W A s W amefi @y wiw i € el | Regulations. Commission may also debar him/her permanently from all future
i % e et § Rafia T wEa §1 e

SR—TEE F o wRRr § - Ae Ui ek e ) odien wAia R oden st ore W qd wdenell gvR—ume @1 S Al e S |,
el W@ @ iy AT T8 @ | fer SIR-T3F A 4l Ry BT AT U oA B, T W B A 9 | e A A Aee qrauHIgEd
e By giedt @ Wi, R odemlt o W o S | wden B StR-uEe B S Wi wae uikar O 81 99 Rl @ g
SRNT ERT AR SN IR Tegd Sl 8 |

29- 6

Page 1 of 32




- The technique of producing notes on two strings
simultaneously of the violin is called -

(1) Martele (2) Drills

(3) Spiccato (4) Double stop

(5) Question not attempted

- Match the following —
(A) Asad Ali Khan (1) Vichitra Veena
(B) Narayan Ayangar (i) Gottuvadyam

(C) Chitti Babu (ii1) Saraswati Veena
(D) Lalmani Mishr (1v) Rudr Veena
Code -

(1) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(1)
(2) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(1)
(3) (A)-(1), (B)-(iii), (C)-(ii), (D)-(iv)
(4 (A)-(0), (B)-(ii), (C)-(iii), (D)-(iv)
(5) Question not attempted

- Which chapter was titled as ‘Vadyadhyay’ in
Sangeet Ratnakar?
(1) Sixth

(3) Fourth

(2) Fifth
(4) Third

(5) Question not attempted

- Which of the following pair of (Sound of
Instruments-Ghan Vadya) is not correctly
matched?

(1) Scrapper — Manyjira, Jhanj

(2) Tinkler — Tankora, Ghanta, Jhalar

(3) Jingler — Ghungroo, Bhairu ji ke Ghungroo
(4) Knocking — Dandiya, Khadtal, Matka

(5) Question not attempted

- Sthayas are —

(1) Small phrases of swaras depicting raga
(2) Elaborating raga in Madhya saptak

(3) Third portion of raga composition

(4) First portion of raga composition

(5) Question not attempted

. Identify the type of Roopakalapti among 'th
following —

(1) Abhog
(3) Pratigrahanika

(2) Tenak
(4) Alikram
(5) Question not attempted

1. aqufe™ @ S ORI W Ue 91 ®R Hdred a1

TH-IH T BEATT &7

(1) AR () fge
(3) Ruaprer (4) S91 Y
(5) Srgaid ue

- Feferiaa 1 gafera s —

(A) 39T 3Tell T (1) fafe= drom
(B) TR 3R (i) Megarer
(OREIGICICY (iii) FFar drom
) EIGEIEREE] (iv) =g drom
FIE —

(1) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(2) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(1)
(3) (A)-(3), (B)-(iii), (C)-(ii), (D)-(iv)
(4) (A)-(0), (B)-(ii), (C)-(iii), (D)-(iv)
(5) STINT TeA

g7

(1) Baal (2) gr=af
(3) e (4) TRIT
(5) oIk U

- Tr=ferad § | @i=ar g (arel 3 S et

—9 qT1) |l GAHfTd T8l &7

(1) T—=R @afy arer — HoiRT, =i

(2) TH—<1 @ q — THRT, HeT, IR

(3) B9—B «N drel — guw, ool & guw
(4) Th—<d @i AT — SfSTT, Weard, ACH

(5) Sr<IRe wed

- WM E -

(1) BIC—BIC ®R T Sl [T Bl WL Y
(2) 72 Iwqd H W @7 AR

(3) I @Y ST BT FRRT WA

(4) XA T FfeeT BT YT |1

(5) gk e ‘

- FefaRad § 9 Susenitd & YT B 9a187 —
(1) 3mIRT (2) T %

(3) ufcrreforeT (4) arforsnd

(5) JART wed

29. 6

Page 2 of 32



7=

10.

11

What does ‘Alabu’ denotes in Indian music

world?

(i) Veena of Vedic period

(ii) Type of Sarangi in folk music

(iii) ‘Avnaddh’ instrument of Ramayan period

(iv) An instrument of ‘Panchvadyam’ in Carnatic
music A5y

(1) @), (i) (2) (1), (i), (iv)

(3 @), i), (1), Gv) @) (iii), (iv)

(5) Question not attempted

Which is the equally popular tuning method of

violin in Hindustani and Carnatic music for

‘Gayki Ang’?
Mmspse @MsPS
3)MSPR @PRDG

(5) Question not attempted

Sign for two beats and four beats respectively in
Vishnudigambar Notation is -

(w-0 2 S- —

(3) LN . x @) O-w

(5) Question not attempted

Assertion (A) : There are two sides of ‘L

Vilambit and Drut; the middle place between’

both is ‘Madhya Laya’. According to Ancient
and present scholars there is a two fold relation
between the three ‘Layas’.
Reason (R) : At present, from the practical point
of view, ‘Vilambit Laya’ is not fixed in North
Indian Music. Thus, the artist decides the ‘Laya’
as per his convenience.
(1) Both (A) and (R) are true.
(2) Both (A) and (R) are false.
(3) (A) is false and (R) is true.
(4) (A) is true and (R) is false.
(5) Question not attempted

- Which of the following pair is not matched?

m %- Compound quadruple time
@) % - Triple time
3) % - Common time

) -g- Compound time

(5) Question not attempted

10.

11.

AR G ST ¥ 3felrg 91 87

(i) afe® FTei= drom

(i) @l EId | FRAT BT UBR

(iii) YMATIVT BIeie ‘g aTel

(iv) BHTcd | & U9dred | Uh dre

(1) (1), (1) (2) (1), (i), (iv)

(3) (1), (31), (iii), (1v) (4) (ii1), (iv)

(5) argaRa W

TS AT TG, BgearT qen dics Gifd H
I Y I yaferd arafer B Ao fafer st
87

(1) gy (2) war g
@) garg @ gy
(5) SR U

fwrfemer ugfr § wwer <7 A ok @R A
% fas 8§ —

Mv-0 2 S- —
(@) v .x 4) Oo-v
(5) rgaIRd weA

BT (A): o0 & Q) fHR € — Aeifea qen
g, TFI BT Hed, Aoy © | UTE a9 9o
gl & raR dHl ol # g &1 ey 2|
SR (R) : 3YH IRYET § @agie gite |
IR NRA G 7 fadfaa o ffde 78 2
31 HHATHR AT Giewr 7 oy FfEd FRan
2l

(1) (A) @1 (R) <H 9 € |

(2) (A) T (R) THI 3T 2 |

(3) (A) 31T AT (R) 9T & |

(4) (A) T T (R) 3T & |

(5) SrgaIRa we

Freferaa & & wirar gm gafers T 27
(‘)% — B[S FATgI <ISH

@2 — fua e

®)2 — B e

(4)2—65@3'@313‘-'!

(5) Sr<IRa U
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12. Assertion (A) : The order in a ‘Chatushrutik-
swara’ will be “Ga Ka Kha Ga” according to the
three parameters of ‘shruti’ mentioned by
Acharya Brihaspati.

Reason (R) : There are seven ‘Ka, seven ‘Kha’ |
and ten ‘Ga’ ‘Shruties’ in a ‘Saptak’, according

to Acharya Brihaspati.
(1) (A) is true but (R) is false.
(2) (A) and (R) both are false.
(3) (A) is false but (R) is true.
(4) (A) and (R) both are true.
(5) Question not attempted
13. According to Sangeet Ratnakar, ................
gives prestige to Geet, Vadya and Nritya and
organizes them.
(1) Taal (2) Vibhag
(3) Matra (4) Laya
(5) Question not attempted

14. Select the other terms used for Masitkhani
Baaj -
(1) Delhi Baaz
(11) Purvi Baaz
(ii1) Senia Pashchim
(1) All i, ii, iii
(3) Only i, iii
(3) Question not attempted

(2) Only i, ii

15. Select among the following violinists who used
5 strings on their violin —
(1) V.C. Ranade
(i1) Sisir Kana Dhar
(ii1) N. Rajam
(iv) D. K. Datar
(1) Only ii, iii, iv
(3) Only iii, iv
(5) Question not attempted

(2) Only i, ii

16. The length of which of the following instrument
is up to 6 feet? ’
(1) Double Bass (2) Viola
(3) Violin (4) Octo Bass
(5) Question not attempted

12. e (A) : MR gewfa gRT 99 T O

14.

15.

7 16.

IR & IR TR § 9
HHEA T — 7, B, G, T

PR (R) : AR g0 & AAR, U6 IGH
H 9 e, Wd @l e T gfoat Bkl &
M (A) T 2 W (R) I B |

(2) (A) @7 (R) T aRT & |

(3) (A) I & WG (R) T B |

(@) (A) T (R) ST 9 |

(5) srgaRa wea

- FIT XA B ATAR, o ¥ 0,

qrel IR T UfAftsd 8 © ok wyaRerd i
g |

(1) Tt (2) favrT
(3) 7137 (4) o1
(5) SrgRd we !

FdqEr! 9 @ fou uge o |eW @A

(1) & 4, i, ii
(3) ®ad i, i

(5) rFaIRa U=
fFr=foRea § 9 5 AR & JEfed &1 STAR

W#aﬁwﬁaﬁmwﬁﬁq—
() 9. 9. IS

(i) RIRR®™T &R
(iii) U, ¥ToTH
(iv) T ®. TEAR
(1) B ii, iii, iv
(3) ®ad i, iv
(5) IrgeRa we
frefofi & O fow am @ o= o
6 Bic qBb B 87

(2) ®ad i, ii

(2) ®ad i, ii

|
(1) 9ot 919 (2) graretr :
(3) arafem (4) sife) a3 f
(5) SrART T "
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17. What is meant by ‘Geet Vadan Kovid’ in the 17- §fld IoTax # 9@ & Toi # fiq dre=
qualities of instrumentalist in Sangeet Ratnakar? wifae 9 @7 MY 87
(1) Expert in playing the song (1) g & areq ¥ fFrorg
(2) Ignorant in singing and playing (2) T 9T 9reT ¥ areus
(3) Best vocal and instrumental composer (=" (3) T qT ared P IS FABR
(4) Expert in concealing the defects of vocal and @) Mg goT T B ST B T F AT
instrumental music 5
(5) Question not attempted i =
18. Match the following — - fFr=foRed &1 gafea @I —
Consonance Interval Hdre AN
(A) Perfect consonance (i) S —R g (A) 3f @ — 3 %
(B) Consonance () S -R % (B) T (i) 9T — ¥ g
(C) Dissonance (i) S -G 7 (C) aifrse (i) &7 — 7 2
(D) Acute Dissonance iv)S-M 45 (D) afy s Gv)ar — | ‘_;
Code - DIE —
(1 (A)-(), (B)-(ii), (C)-(iii), (D)-(iv) (1) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(2) (A)-(ii), (B)-(iv), (C)-(3), (D)-(iii) (2) (A)-(ii), (B)~(iv), (C)-(i), (D)-(iii)
(3) (A)-(iv), (B)-(iid), (C)-(ii), (D)-(1) (3) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(4) (A)-(iid), (B)-(@), (C)-(iv), (D)-(ii) (@) (A)-(ii1), (B)-(i), (C)-(iv), (D)-(ii)
(5) Question not attempted (5) sTyaRa e
19. Bindu, Anubandha, Pushp etc. are the varieties - Ry, o @em g9 o 5w O @ UK
of which Dhatu? 87
(1) Vistaar (2) Aabiddha (1) far (2) smidg
(3) Vyanjan (4) Karan () =T (4) o
(5) Question not attempted (5) SR T2
20. Select the following instruments in increasing - P & MR R Fr=afelRad amen &1 9gd w9
order based on the shape — ¥ g HIfolw —
(i) Violin (i) arafer
(ii) Double Bass (i) S9c 919
(iii) Cello (iii) =er
(iv) Viola (iv) aravel
(v) Octo Bass (v) 3ifgel I
(1) 4, i, iv, v, ii (2) v, ii, i, iv, iii (1) i, i, iv, v, ii @) v, ii, i, iv, iii
(3) i, iv, i, ii, v @) v, ii, iii, iv, i (3) i, iv, i, ii, v @) v, i, iii, iv, i
(5) Question not attempted (5) araiRa ge
21. Vishnu Govind Jog used, how many stringstin 21- fq®] Mfad= SFT 310 araferd o famn
his violin? BT TR B o7 )
(1) Two (2) Four (1) g7 (2 T~
(3) Six (4) five 3) - @) o
(5) Question not attempted (5) SrqaRa T
29- 4




22. The term ‘Vitat’ was used for which type of
instruments in Tansen’s ‘Sangeet-Saar’?
(1) Bowing instruments (2) Ghan Vadya
(3) Sushir Vadya (4) Avnaddh Vadya
(5) Question not attempted

‘Tabli” of Violin -

(1) at the end of the f holes

(2) between the f holes

(3) near the starting position of the tailpiece
(4) near the last position of finger board

(5) Question not attempted

24. Modern Bilawal Thaat will be obtained by
assuming the initial note as ‘Sa’ of which
Murchna of Bharat?

(1) 2N, 48, 3R, 2G, 4M, 4P, 3D — Rajni
(2) 4S, 3R, 2G, 4M, 4P, 3D, 2N — Uttarmandra
(3) 3D, 2N, 45, 3R, 2G, 4M, 4P — Uttara-ayat
(4) 4P, 3D, 2N, 4S, 3R, 2G, 4M - Shuddh Shadja
(5) Question not attempted

25. How many ‘Shuddha Jatis’ have been mentioned
under Shadja Gram?
(1) Four (2) Eleven
(3) Five (4) Seven
(5) Question not attempted

26. Arrange the following instruments in the

sequence of Tat, Avnadha, Sushir and Ghan

22. qEA Fd WIAG—AR #H, RAdd dsm b1 ganT

23. Choose the correct position of the bridge on the  23-

24.

25.

26.

o amell @ ford v mam 27

(1) 75T | g1 drel aren(2) 1 arer
() gR a= (4) sraig gre
(5) SR U

grafeE B ddel’ W a9 &1 W e 9y
#iferg —

(1) f Ere| & FaIftq W W

(2 fared & 7"

(3) code © YRMS wIH @ U
(@) TR 98 & 3ifH = & U
(5) srgeiRa e

T OF R AYFe [ e @ it gl

(1) 219, 491, 33, 27T, 47, 47, 38 — o1

(2) 49T, 3N, 27, 49, 44, 3¢, 2 — SRAST

(3) 34, 2, 4T, 3%, 27, 49, 49 — SRR
(4) 44, 397, 29, 490, 3V, 27, 49 — QG TS

(5) IR U

SO UM B I fhal g St 9arg T3
14

(1) g~ (2 TRE
(3) ur= (4) 31
(5) TR U

arEll Bl HHL: O, AaFE, gR, 'H P w5 A
g BRI |

respectively. (A) TIH
(A) Karchakra (B) SIEall
(B) Kaahla ©) {[ﬁ?ﬂ
(C) Shukti (D) H10E
ik gt (1 A, D,C, B () D, A, B, C
WL, B #D.A,B,C (3)D,B,C, A @) A,C,B,D
(3)D,B,C, A (4) A,C,B,D 5) -
(5) Question not attempted
29-é Page 6 of 32
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27. Which of the following pairs is not matched?
(1) —

—

11

- Bar line

)

— - Stave

o :i:/
L~

- Sharp

(4) \;

(5) Question not attempted

- Double Sharp

28. Which is not correct in context of Qayda?
(1) Qayda is made of basic Varna of Tabla.
(2) It can be of one or more cycles.
(3) It has two parts — Bhari and Khali.
(4) It is not based upon Matra, Tali-khali
Taal.

(5) Question not attempted

29. How many Tumbas were there in Alapini

Veena?
(11 (22
(3) 4 43

(5) Question not attempted
30. Match the following —

List-1 List-II
Veena No. of strings
(A) Chitra D1
(B) Vipanchi (I 21
(C) Ghoshka (II) 7
(D) Matt Kokila  (IV)9
Code -

(1) (A)-11, (B)-1, (O)-111, (D)-1V
(2) (A)-1, (B)-I1, (C)-IV, (D)-1II
(3) (A)-1V, (B)-IIL, (C)-1L, (D)-I
(4) (A)-IIL, (B)-IV, (C)-I, (D)-II
(5) Question not attempted

27. fy=foafad § | S g™ gAfd 8l 87
) :

—— _ ar ae
(2 ——
——— w9
(3) -
j:’_m
(4)‘§
— 9o oMY

(5) argRa T

. BIISl B HeH ® T Fal q8l 87

() wrer &1 Al Tl & JT Ui gRT Il
=

(2) 78 UF IT A 3Mda BT Bl Gl ¢ |

(3) 3Hd T YN & — WX 3R Wil |

(4) gger fEior 9 &7 7=, del—ETell W
T8 Bran|

(5) argaRd wed
- 3T o # fapew e BT o
(11 (2) 2
(3) 4 (4) 3
(5) TR Uz
- frfoRaa = gafea v —
arferar—1I GUEEDS
o TR &0
(A) fa=n M 1
(B) fag=h (1) 21
(C) =eT (I11) 7
(D) | el (Iv)9
Pl —

(1) (A)-IL, (B)-I, (C)-IIL, (D)-IV
(2) (A)-L, (B)-IL, (C)-IV, (D)-III
(3) (A)-IV, (B)-IIL (C)-IL, (D)-I
(4) (A)-IIL, (B)-1V, (C)-L, (D)-1I

(5) eIk g
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31.

What name was given to the modified form of 31
violin with sympathetic strings by Kunwar
Rajendra Singh of Mumbai?
(1) Brahmanandini (2) Swarlin

Veena

(3) Vishwa Veena (4) Ramolin

(5) Question not attempted

qrafe™ & gRafdd ey & o1 =9F fear Tar?

(1) sg=T=eT qrom (2) TR
(3) fawg rom (4) wifer
() e e

32. The Musician who won the first prize by playing ~ 32. agef offe $fewr =fre SFpa—oaTs ¥
Violin with ‘Gat-Anga’ in the ‘Fourth All India TA—T W AT e B YIH TSGR TS
Music Conference-Lucknow’ - B gl TS B 97
(1) Gajanan Rao Joshi (2) Shridhar Parsekar (1) 799 9@ S (2) R qRiew
(3) Gagan Babu (4) Allauddin Khan (3) T ATg (4) areaTTaerT @i
(5) Question not attempted (5) SR T

33. How many characteristics of Vaggeyakar are  33. 3ifid veT” & a¥gaR & oy oeol &
mentioned in Sangeet Ratnakar? Jeord fierer 87 .
(1) 25 (2) 28 (1) 25 ' (2) 28
(3) 27 (4) 26 (3) 27 4) 26
(5) Question not attempted (5) ergaRa we=

34. 'What is the fixed width of hair in a violin’s bow- 34 Ifer & T # 91l &) Ao fpaeh FufRa
stick? 87
M 11 meh (2) 2 Inch M 1leqg (2239

2 2
3) % cm (4) 1cm G lyy # 139
(5) Question not attempted (5) aﬂﬂﬁaz T

35. What is the correct position of ‘Sound-Post’ in 35 grafer # ‘tafy Wy &) ¥ Refd & —
violin? (1) <1 & IR
(1) Above the bridge @ gg A 5L w7 & ™
@) At a distance of 5 i inch from bridge 3) .Eh_\cﬁ & ?srrz({ RS
(3) Under the Left-leg of bridge @ 9 & iy IR B 99
(4) Under the Right-leg of bridge 5) SR
(5) Question not attempted & I

36. Assertion (A): ‘Chitra’ and ‘Vipanchi’ Veenas  36. aiffygerd (A): ‘Rrar o fudy don o smant
were considered as ‘Anga’ and supporting gedia 7 Fadifder AT BT T 9 TEED
instrument _(Veena.) of ‘Mattkokila veena’ by AT AT 2|
Acharya Brihaspati. A s . .
Reason(R): Acharya Brihaspati has considered R (R): e geeia 1 fomr d fader
the strings of ‘Chitra” and ‘Vipanchi’ Veena as o @l Gl @ 317{“? A1 8, s
incomplete, in which all three ‘Saptakas’ were il @1 fefda & B
not expressed. _ (1) (A) 9 2 Wg (R) 39 B |
(1) (A) is true but (R) is false. (2) (A) @I (R) SFF W 2
(2) (A) and (R) both are true. 3) (A B gl 5
(3) (A) is false but (R) is true. LAG =TI @ e (R
(4) (A) and (R) both are false. (4) (A) @I (R) T 376 2 |
(5) Question not attempted (5) argaRa e
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37.

38.

39.

40.

41,

42,

43.

Weak and Strong harmonics in sound denotes —
(1) Intensity (2) Timbre

(3) Number (4) Pitch

(5) Question not attempted

Which of the following option (Ancient Veena -
Other name) is not correctly matched? .
(1) Kinnari — Nakuli

(2) Mahti — Matt Kokila

(3) Vitantri — Vishoka

(4) Parivadini — Ishwari

(5) Question not attempted

The tradition of playing musical instruments
compulsorily in the war field i.e. as “military
musical” skill, can be seen in -

(1) Saam Ved (2) Vayu Puran

(3) Nardiya Shiksha  (4) Mahabharat

(5) Question not attempted

What is meant by ‘Shadjaantar-Bhav’?

(1) Nine shruti interval (2) Seven shruti interval

(3) Thirteen shruti (4) Ten shruti interval =
interval

(5) Question not attempted

In Natyashastra, which chapters deal with

Music?

(1) 18-26 (2) 15-18

(3) 28-33 4 1-10

(5) Question not attempted

Which swaras are omitted in the Shadav-
Moorchnashrit Taan of Madhyam-Gram?

(1) N1, Pa, Ma (2) Ma, Re, Sa

(3) Ma, Dha, Sa (4) Sa, Re, Ga

(5) Question not attempted

Which of the following option is not the correct
match for the parts of Sarangi?

(1) Place of fingering — Chhati

(2) Upper place of main pegs — Magaj
(3) Part covered with leather — Mandhan
(4) Part of sympathetic strings — Kamaan
(5) Question not attempted

37

38

39.

40.

41.

42.

43.

- AE H ITRRI & gdo-—Udd e d T W
B 87

(1) e (2) sfa
(3) He= (4) ardr
(5) argaRa ye

- ffaRaa # @ [@eer (W= dom — 3=
) gHleTd T8l 87

(1) T — el

(2) W&l — < Bifbar

(3) faa=n — faeieT

(@) aRarfe — ggei

(5) 3R e

Ig ¥ 99 W] @ AT qeT B IRIT el
“Gfre wifia” faen @ g faer @1 geF @el
Il &7

(1) §Ede (2) arg gIoT

(3) IR e (4) HEMRA

(5) SrgiRa e
TSR ¥ AMfug 2 —

(1) = 5 s (2) e sfer siem

(3) TRE A 3R (@) 3 A sfeR

(5) Jr<IRe g

e wre #, i @ =t T sl § @l
TS B7

(1) 18-26 2 15-18

(3) 28 - 33 (4 1-10

(5) rgxIRa wed

HIH-—UH & WIEd oA dF H hEn
BF—BH W WX aieid f&d o 87
Mg+ (2) 7, 3, «1

(3)1{ a, o @ =r T

(5) arailRa g

ffaRaa & A 941 fdeed AR & ST @
|e! fier el 87

(1) 3Tl FATE BT W — Bl

(2) 7= fedl o1 Hudl Wi — 7

(3) el W HeT fewyr — wurd

(4) TR B GfedT BT 9T — HAH

(5) rgaARe U
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44. Select the Gharana of ‘Instrumental music’ - 44, ‘qrg—ifla & BRI BT gIT DHIT —
(1) Bhendi Bazaar (2) Agra (1) ST IR (2) JFRT
(3) Etawah (4) Shyam Chaurasi (3) Terar (3) sgr7 IR
(5) Question not attempted (5) arafea oo
45. Select the correct order of ‘Uttarmandra’, 45 W @ ‘gIeW wWN T B ATER, FAHE]
according to ‘Dwadash Swara Murchna’ of T W T BT AT B —
Matang — ORREIR SRRt R TH
(INSRGMPDNSRGM . . % .
e g M wRTH
) DNSRGMPDNSRG S TN WA
) SRGMPDNSRGMP @WMITATTR WY TG
4 PDNSRGMPDNSR - 3
@ugfwraagg @
(5) Question not attempted (5) argaRa we
46. Assertion (A) — The rule of ‘Samvad’ between 46 BT (A) — I & IE—/AT TR & el
the ‘Vadi-Samvadi’ notes in a raga is as pleasing Hare &7 | der @ gfte & fra o 2
from the point of view of art and equally proven 3R e & Q’I‘S\:’ J ITT B Tﬁ 2
from the point of view of science as well. _ : :
Reason (R) — There appears to be violation PR Ry~ _ » zb‘r- _
the rules of ‘Samvad’ - Samvad R-D in Marv ST o~ ARAT # X-¢ A1 A H -0 W< | A
and R-P in Shri. Both these intervals are a8l 3 aNIel I 2 |
dissonance. (1) 39 R 9T 2|
(1) Only R is true. : :
(2) A T R S 93 ¥ |
(2) Both A and R are true. @) A e s
(3) Both A and R are false. = S
(4) Only A is true. (4) Bact A T B
(5) Question not attempted (5) SITIRT W
47. Which is the other name for Vichitra Veena? 47 fafer oM o1 qERT AT H®T 87
(1) Rudra (2) Tumbika 1) =g 2 @%m;[
(3) Batta (4) Singi (3) 91 (4) ffy
(8) Question not attempted (5) areRa wea
48. Who is not the disciple of Mushtaq Ali Khan? 48. I qeATH 3Nl @i & forsg 7 &2
(1) Nitai Chandra Bose (1) e 95 99
(2) Nirmal Guha Thakur da (2) e T o a1
(3) Ali Akbar Khan (3) 37eN 3rpaR @t
(4) Devvrath Chaudhary @) Tagg SR
(5) Question not attempted (5) e T
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49. Which option is not matched in the sequence 49 WRd WRiAU & TEm™Hd § d=w e
(Source of Notation - Sign of “TAR” Swara) of (RN S — R TR &7 Foee) gaferd 721
the development of Indian Notation System? 27
®
) Shiv Narayan Joshi - 52 (1) 31 AT Sreh — i
(2) Maula Baksh- 52 @) der g — A1
() Bhatkhande - S (3) wyreregoe — @7
4 I
@ Sangeet Ratnakar - 53 (N S ——
(3) Question not attempted (5) SreRa e
50. Mushtaq Ali Khan used how many fretted Sitar? 50 Hzare 2rell @i fdhaw 98 &1 AR ol 97
(1) 19 (2) 20 (119 () 20
(3) 17 4 18 (@) 17 (4) 18
(5) Question not attempted (5) arpIRa U=
51. What are the inward strokes of the index finger ~ 51- Toil 3ffffer & Maw @1 SR arara &I G
called in the ‘Vyapar® of right hand in Sangeet ISR H SIfe 81 & IR 6l 997 68T 87
Ratnakar? (1) Hog (2) yov
(1) Sanlekh (2) Bhramar (3) = ) 979
(3) Chinna (4) Ghaat (5) SrqRe T2
(5) Question not attempted
52. The use of ‘Chinrest’ in violin is the contribution 52 qrgfe™ # T’ &1 YA {69 HedR @I
of which artist? Q&7
(1) Nicola Amati (2) Andre Amati (1) fpTaT 3T (2) 3= 3rHTAT
(3) Louis Spohr (4) Stradivari (3) 2 THR (4) TR
(5) Question not attempted (5) srgaRa ue
53. Purpose of Adjusters is - 53. USOIRER (Adjusters) HT Se¥T & —
(1) Increase Meend (1) His TgmT
(2) Increase Scale (2) g<d (W) qQ
(3) Allow Bow to go for movement (8) et &Y =Ter B W ST
(4) More precise Tuning @) =TT ) T F e
(5) Question not attempted (5) s e
54. Laggi is used with which musical forms? 54. Tl @1 gaAnr fhw wiifoe foar @ wmer g
(A) Khayal &?
(B) Thumri () e
(C) Folk music )3
|) ol |
(D) Dhamar EE)) AR
Code - Fe —
(1B-C 2C-D (Mg -4 2w -=
3)A-D (4 A-B @a— = 43— 3
(5) Question not attempted (5) SR T
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55.

56.

What is similar in the instruments Dilruba and
Israj?

(I) Use of Tarab strings.

(II) 5 main strings.

(I1I) Instruments played with bow.

(IV) Daand is covered with leather.

(M 1, 11, O1, IV (2) 11, 1V

() I, 111, IV (4) 1, 111

(5) Question not attempted
Match the following —

Tripushkar Shape
(A) Ankik (1) Gopuchha
(B) Alingya (ii) Haritaki
(C) Urdhwak (ii1) Yavakrati

Code -

(1) (A)-(ii), (B)-(0), (C)-(iii)
() (A)-(iD), (B)-(iii), (C)-(i)
() (A)-(), (B)-(ib), (C)-(iii)
(4) (A)-(iii), (B)-(i), (C)-(ii)
(5) Question not attempted

55.

56.

57. Which instrument was invented by Mammag, .

Khan, the exponent of Delhi Gharana?

feoTodr qAT SRS aTel & THAT 9T 27

() T<al BT GANT BiaT 2 |

()5 H&= R & € |

() 75T ¥ arfed arer 2|

(IV) STS B =g H FeT Sl 2 |

M LI I, IV @) 1L, IV

3 1,11, 1v ) 1, 111

(5) 3rgiRa ueH

ferfoRaT @1 gafera #ifvrg —
Prgmr amgfy

(A)3nifbe (i) g

B)nferrm (i) eRafs

©)FHED  (iii) FaH

TS —

(1) (A)-(ii), (B)-(), (C)-(iii)

(2) (A)-(ii), (B)-(iii), (C)-(1)

(3) (A)-(0), (B)-(i1), (O)-(iii)

@) (A)-(iii), (B)-(1), (C)-(ii)

(5) SrgiRa U

- eoell aRM @ ww I 7 59 919 &7 snfase
T

(1) Nal Tarang (2) Sur Sagar (1) 91 a9 (2) g3 IR
(3) Chandra Sarang (4) Surleen (3) T R (4) qiq;ﬁq
() Question not attempted (5) srgaRa W
98. Kamaycha is a famous ‘Vadya’ of which state?  98. ®ERmET 6w w59 &1 ufig ‘arer 87
(1) Calcutta (2) Rajasthan (1) PeTepr (2) Rem™=
(3) Himachal (4) Delhi (3) feuraat 4) et
(5) Question not attempted (5) arpaRa we
59. Which  option  reflects  the correct 59 BN fAhey TeHIGT IRRN B AE AT
characterization of “Vrittis” of Ratnakar? DI ST 87
(Chitra — Vritti — Dakshina) (= — gy — <feyom)
(1) Vocal based — Instrumental based — Vocal M W T — 9IeT WE — T T are
and instrumental equally < R . .
(2) Instrumental based — Vocal and instrumental (2) qre g ~ TR U9 9red SN A -
equally — Vocal based RIERRCIE
(3) Vocal and instrumental equally — Vocal: (3) A YT e ST GAA — T JEE —
based — Instrumental based & EICE I}
(4) Vocal based — Vocal and instrumental (8) I UgHE — T¥E U4 9red g§F 99 —
equally — Instrumental based EICE R IE]
() Question not attempted (5) IraRa wee
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60.

Assertion (A): The fact that the ‘Bow’ is
originated from India is accepted by both Indian
and Western scholars unanimously.

Reason (R): The ‘Bow’ is frequently mentioned
in 10™ century literature and is clearly depicted
in a number of illustrations. i1 1]
(1) Both A and R are false.
(2) A is true and R is false.
(3) A is false and R is true.
(4) Both A and R are true.

60.

BT (A): MR H IS BT IgHT 2T T,
39 T8 W YR dT urgErsd fAg UahHd
gl

HROT (R): T B ==t 1097 ordre] & ey
q ferdl 8 R 9gd Al dadidl § el
fearar T 2|

(1) A @7 R SHT 39 2|

(2) A T T R 39 B |

(3) A 3T TT R 9 B

(4 A 9T R T 9 B |

(5) Question not attempted (5) ergaRa we
61. In Carnatic music, ‘Shivpuchham’ is a type of —  61- &Hless &iia ¥, ‘Rragzen fFwer mor 27
(1) Meend (2) Kan O (2) PoT
(3) Gamak (4) Kaaku (3) TEH (4) 1.
(5) Question not attempted (5) IR T
62. What is correct in the context of Surinda? 62. gRer & A o a1 |l 27
(A) It is played with Bow. @) T T B T IO & |
(B) It has three main strings. @) 98 99 & dR R
(C) Small metallic bells are tied to the Bow. (@) T B T gus 99 B )
Code - FrE —
(1) Only C and D (2) Only A,C and D (1) daer g 3R © @) daq a1 | 3R
(3) Only A and B (4) All A, B, C and B e e ] 20 50 0 =
(5) Question not attempted C
(5) IrgIRT U=
63. Which of the following facts are correct 63 FfaRed # @@ & Hdy # P T2T LI
regarding ‘Rabab’? g7 _ _
(A) Ahobal has described it in ‘Sangeet-Parijat’. (A) IEEA T, FOT ARG A T AT F
(B) Jaysi has mentioned this in ‘Padmavat’. ) -
_ ' _ _ _ (B) STl o UgHEA ¥ 39 I B Sooid
(C) It is mentioned in the ‘Saakhies’ of Kabir. T 2|
(D) Rabab has been shown in the category of (C) R B FiRga} ¥, 91 FT Iood B |
‘Ghan-Sushir’ in Sangeet-Saar. (D) TId 9R ¥ @& BI -G Ty D
(1) Only (A) ) (B), (C), (D) A F guria g | T
(3) Only (B)and (C)  (4) (A), (B), (C) () w3 (A) (2 (B), (©), (D)
3) Had 4
(5) Question not attempted i (BYTem (C) ¥4 (A, (B).C)
(5) SR geA
64. Which is a fretless Bowing Instrument? 64. i1 WIRET A8 T arer 87
(1) Dilruba (2) Israj (1) faerodr (2) TR
(3) Mayuri Israj (4) Sur Sagar (3) 7 R (4) TR R
(3) Question not attempted (5) Gﬁﬁﬁﬁ o
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65.

Match the following according to Sangeet 65

Ratnakar -

(Vritti) (Laya-Shaili)
(A) Chitra (1) Vilambit Laya
(B) Vritti (i1) Madhya Laya
(C) Dakshina (ii1) Drut Laya
Code -

(1) (A)-i, (B)-iii (C)-ii  (2) (A)-ii, (B)-iii, (C)-i
(3) (A)-i, (B)-ii, (C)-iii (4) (A)-iii, (B)-ii, (C)-1
(5) Question not attempted

HIT AR & FFAR = 31 fend -

(3fr) GRaE])
(ar) fermm () feifia o=
(@) gRr (ii) =0 T
(W) wféom (iii) ga &
e —

(M) @)1, @)-iii (@)-ii () (30)-ii, (@)-iii, (F)-i
(3) @)1, @)-it, (F)-iii (@) (@)-iii, @)-ii, (F)-i

(5) srgaRa U=

66. When Safurit, Murchana, Karatri, Nakh Kartari 66 579 ®ERa, q2641, Fei¥l, T ol qoIT Sfefdas]
and Ardha Kartari ‘Vyapar’ is used, then it is R T 94 8, 99 99 T ¥ —
known as - _

(1) Drut (2) Gajleela (1) gd (2) TTredten
(3) Dandak (4) Kankaal @) cvsh (4) DepTet
(5} Question not attempted (6) \'ﬂﬂﬂﬁﬁ RS

67. ‘Karkari’ falls under which category of 67 ‘BaR fr=faRed ¥ I frg S &1 @ 22
instruments?

(1) Sushir (2) Avnaddh ik ST
() aq (4) g9

(3) Tat (4) Ghan ) ) S

(5) Question not attempted 3

68. Dhatu in which Laghu-Guru and Plut are used,* 68. f&q 1q # @g—7> T d &1 JANT BT 27
is—

(1) Vistaar (2) Aabiddha Lgeis s
_ @) =T (4) oo

(3) Vyanjan (4) Karan ) i

(5) Question not attempted 3

69. According to V.N. Bhatkhande, Teevra 69 dIGq. wra@rs & oWR, g 7o 5w Hfa
Madhyam is based on which Shruti? R T 87
(M 11 (2) 8 M 11 28
(3) 12 @9 3) 12 @) 9
(5} Question not attempted (5) I AIRT ueA

70. Which Veena’s were used for ‘Yagya’ in Saam?  70- 5 ‘g5’ # &= domeii &1 wamT B 87
(A) Kand @) @Ivs
(B) Alabu (@) JrelTg
(C) Vichitra ) fafts
(D) Picchola () e
Code - FIE —

M 4 Gl LA (M3, 9 s @9 %
3 4
§5: g;fs,tilzn not attemptid) o SELR ¥ W
(5) SrgiRa U
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71.

72.

73.

74.

75.

In Jhala playing, what is called the striking of the
Mizrab in the opposite order and the use of

le.

additional ‘Bols’ on chikari strings

Dra s Rda, Da s Rda DaRa, Dir Da Da Ra?
(1) Uchatladi (2) Kattar
(3) Mamul Jhara (4) Thonk
(5) Question not attempted

Which sign is used for Minim in Western
Notation?

Q) @
» d
@@

(5) Question not attempted

) o

The importance of Mathematics in musical texts
is not reflected with which of the following
subjects?

(1) Nasht, Uddisht

(ii) Placement of Swara on Veena
(iii) Katapayadi system

(iv) Cent, Severt system

(v) Rag Dhyan and Rasa Sutra
(vi) Layakari

(1) Only iv, v, vi (2) Only i, ii, iil

(3) Only i, ii, iii, iv, vi (4) Only v

(5) Question not attempted

Which Veena was called the reflection of
‘Shariri-Veena’ by Abhinavgupt; which was
capable of following all the three ‘Saptaks’
emanating from human-throat?

(1) Kaahla (2) Brahmi

(3) Kachchapi (4) Matt Kokila

(5) Question not attempted

Which of the following is the traditional
‘Avnaddh’ instrument of Kerala?

(1) 1dakka (2) Kombu
(3) Nagswaram (4) Morsinga
(5) Question not attempted

71.

72.

73.

74.

75.

SIel dreq §, uda w9 9 feRE &1 g
T e & aR W efaRed gl g1 &7 S
g g7 s °f I, fRR °1 1 X @1 WERT @l
HEATdl 87

(1) STcas! (2) TR
(3) AT RT (4) B
(5) SrgiRa w3

TreETy Wit ugfa # &M & forw @ forg
27
(1) (2)d

>

) o

(5) JITART e

g geif § g &1 Aew f=folaa o 4
fb= fowgi gRT U &l BT &7

() T, e

(ii) 919 UR TR LRAMYA[

(iii) FeuaTfs ugfd

(iv) Je, Jac ggfa

(v) I A iR 9 gF

(vi) IR

(1) dad iv, v, vi (2) dae i, ii, ii

() Baat i, ii, iii, iv, vi (4 dadAv

(5) argaiRa U

AI—55 ¥ Aemas arel dF 90l qwel’ B,
aRer H wHef BN & BRv, b o @l
sfeaTe A IrIR—dom @1 wfiifde Fer &7

(4) r

(1) ®1EaT (2) greh
(3) el (4) 7T Bifhel
(5) IrfRa Ue

f=faRag § 9 o &1 IRURS a9 dre
AT 87

(1) 3sadT (2) B
(3) ARTHRA (4) ARRET
(5) oIk U
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76. Select the false statement amongst the following. ~ 76- f=foilRad & 94 sracd o &1 gy |
(1) Pancham Swar is never omitted in ‘Jatis’. (1) Sfel ¥ dom wR wdf afsta =Et o
(2) There are Shadvit types in 14 Jatis and SIS
auddhavit types in 10 Jatis. (2) 14 \_"m H refad qerm 10 St # sirsfaa
(3) Samvadi of Ansh Swar is never omitted in - W B & | o _
Jati Gayan. = (3) ST T 9 3feT WR & Aare] Bl HHT foid
. : EEREEIRSIGH
(4) According to Bharat Ansh Swar is also : P
considered as Grah Swara in all the ‘Jatis’. (4) e @ e SRT WX € W i T
' TR A BT E
(5) Question not attempted (5) iR T
77. Which is not a variety of Padashrit Geeti? 77. i1 geidd Mify &1 geR T8 87
(1) Ardhmagdhi (2) Sambhavita (1) arefamreft (2) Tyrfaar
(3) Prithula (4) Bhinna (3) gegan (4) f=1
(5) Question not attempted (5) IrgaRe wee
78. Francis Tourte fixed the balancing pointofabow  78- WwIRRrg €€ = T &1 Ao e A9 R
at - 27
(1) 23 cm above the frog (1) 23 IH. BT & FWR
(2) 19 cm above the frog (2) 19 9H. BT & FW
(3) 21 c¢m above the frog (3) 21 9H. BT $ SW
(4) 15 cm above the frog 4) 15 99 BT B TW
(5) Question not attempted 7 (5) e e
79. Assertion (A): The traditional style of Been - FWPE  (A): dF, WE AR PRIER @
Rabab and Sursingar, which was related to the RIRFTT 2ell A1 gue &I 9 el | Ao
ancient style of Dhrupad, was the origin of o, 9 @ SgM A oA FE wfafted
‘Baaj’. This is the iconic ‘Tantrakari-Baaj’. GEEAUCIS RS
Reason (R): Singing is also played on popular PR (R): yaferd RiaR, A)1e, arafes, ard
instruments like Sitar, Sarod, Violin, Sarangi etc. anfe e # e g 2 |
(1) Both (A) and (R) are true. (1) (A) T (R) THT FF & |
(2) Only (A) is true. (2) Baedt (A) I B
(3) Both (A) and (R) are false. (3) (A) T (R) ST 31 & |
(8) Only (R) is true. (4) BT (R) ¥ 2|
(3) Question not attempted (5) SraRa =
80. The holding position of which instrument is  80- agq & WHY &9 a& BT IR H== @7 Ay
similar to violin? qrafed & W9 87
(1) Octo Bass (2) Double Bass (1) affeer T (2) Ege1 919
(3) Viola (4) Cello (3) v (4) <1l
(5) Question not attempted (5) sTaRa W
81. Which Indian musician presented fusion music. 81- fbq “R WideR 7 75 AER & W
with Yahudi Menuhin? R Rt gega fhar?
(1) Ravishankar (2) Gajananrao Joshi (1) ¥faerex (2) o Sl
(3) Allauddin Khan  (4) Kanthe Maharaj O RISARECH A) HTe gERT
(5) Question not attempted (5) aTgRa we
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82. Which Veena was not there during Vedic times? ~ 82- afd® &1t # i< dom =81 «fi?
(1) Rudra (2) Mahti - (1) ®e (2) 72
(3) Katyayani (4) Pinaki (3) P (4) TSy
(5) Question not attempted (5) 3rERA we
83. Which of the following option is corg 83. fy=ferRaa & i fdeey |l gHferd 27
matched? - (1 S FrEERER — 7 ST
(1) Sangeetopnishatsaroddhar — 7 Alankara 2) G TG R — 13 AR
(2) Sangeet Samay Sar — 13 Alankara @it T = 18
(3) Sangeet Makrand — 18 Alankara .
. . (4) TIPSR — 19 FABR
(4) Chaturdandi Prakashika — 19 Alankara
(5) Question not attempted 9 = o
84. Select the instruments having frets and played 84 fo=ifoiRad # |4 91 4 o atel \WR&T gaa
with bow amongst the following — AT BT AT BITY —
(i) Israj () IR
(ii) Dilruba (i) fererear
(iii) Taus (iif) TS
(iv) Sarangi (iv) AT
(1) Only i, ii (2) Only i, iii (1) Faa 4, ii (2) a i, iii
(3) All1i, ii, iii, iv (4) Only i, ii, iii (3) | i, i, iii, iv (4) dad i, i, iii
(5) Question not attempted (5) argaRa ueA
85. How many strings are there in Pinaki Veena? 85. fiTe! 4iom # fhaw U B 27
(1) Seven (2) Zero 1) 99 (2) I
(3) Eighteen (4) Five (3) 3roRE (4) gr=
(5) Question not attempted (5) STARd W
86. Which of the following option is not correct in ~ 86. ‘fffq & wef & wIar fadoy |E =& 272
the context of ‘Nirgit’?
(1) Invented by Narada (1) AR ERT 3AfIepe
(2) Use of ‘Shushkakshara’ or ‘Stobhaksharas’ (2) ‘geperR AT TER] T JANT
(3) Use of Jhantum, Jagatip, Valitak, Kuchjhal, (3) Z7v¢, STTfcY, dferca, wage, [fdea...... &1
Gitikal...
(4) Used and preached by gods (4) SFTAN ERT TG T IUF
(5) Question not attempted (5) Srgeie we
87. “KAKLI NISHAD” is placed on which shruti,  87- ﬂ@é‘ﬁ@‘ﬂ‘cﬁ@ﬂﬂ ¥ gftfa “@raen e g
according to ‘Chaturdandi Prakashika’? i ) Rera g7
(1) Manda (2) Teevra (1) Her (2) Aar
(3) Chhandowati (4) Kumudwati (3) B (4) By
(5) Question not attempted (5) orgaRd T
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88.

Match the following —
(A) Vistaraj
(B) Sanghataj
(C) Samvayaj
(D) Anubandh
8 8 8 8
(i) Da Da Da Da

S R G M
(ii) Dada Dada Dada Dada

S R G M
(iii) DadDa DadDa DadDa DadDa

S R G M
(iv) DaDa DaDDa Da DaDa

Code -

(1) A-ii, B-iii, C-i, D-1v
(2) A-i, B-ii, C+iii, D-iv
(3) A-ii, B-i, C-iv, D-111
(4) A-i, B-iii, C-iv, D-11

88. fr=fiRad BT Qe BIRTT —

(A) faaRst

(B) el

(C) FHaTIS

(D) s
T oA Al 4l

() &7 & & d

S

.y Al
(”)aTgr &Sl TreT QTS

ey W7 Y T T
(111) m. W W 31‘@
< | A S

(IV) ﬂ@T alsdl <l gl
IS —

(1) A-ii, B-iii, C-i, D-iv

(2) A-i, B-ii, C-iii, D-iv

(3) A-ii, B-i, C-iv, D-iii

(4) A-i, B-iii, C-iv, D-ii

(5) Question not attempted (5) sraRe g
89. According to Bharat, which of the following pair . R B IR, FrfeRan # e g gafea
is not correctly matched? 8] 27
(1) Yathakshara Chaachput- S | 1S (Guru Lagh{i (1) geomeR araye — S 11 S (e <y oY T%)
© v , @) 3o =wcge — S SIS (T% T8 <Y <)
Yathakshara Chanchatput - S SI'S  (Guru 3) a2 ’
Guru Laghu Plut) b 3 SISSIS (g @Y
(3) Yathakshara Shatpitaputrak - ‘S| S SI'S T® o & 1)
(Plut Laghu Guru Guru Laghu Plut) @) fgma TrEge — S SIS S| (135 To oy To
(4) Dvikal Chaachput - S S| S S| (Guru Guru & o)
Laghu Guru Guru Laghu) (5) Sﬂﬂﬂﬁﬁ wI
(5) Question not attempted
90. What is correct in context of Vivadi Swara? 90. feqrd) wR & W H @ HEl 87
(A) It must be used in limited manner. SRR ST T HU A S e |
(B) It must be used in subtle manner. (4) T WANT GG B HT Pl AT 2
(C) It enhances beauty of raga if used with (=) W YA RA TR AT Bl GEwdl
efficiency. BT e ¢ |
(D) It should be repeatedly used with every (S) 39T WM I B YD TR D G
swara of raga. FR—AR BIFT @MY |
(1) A,B,D (2 C,D, A Mar 9 s 29 < 3
A BT WE A OER S @, 3
(5) Question not attempted (5) e U
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91.

92.

93.

94.

95.

Select the instruments having four main strings
from the following —

(i) Dilruba

(i1) Sarangi

(i11) Sitar

(iv) Violin

(v) Santoor

(M (i), (ii1), (iv) (@) @), @id), (v)
(3 @), (i), (iv) @) (iii), (v)

(5) Question not attempted

Striking outside on string with middle and ring
finger is called -

(1) Sandhit (2) Bhramar

(3) Chinna (4) Nakhkartari

(5) Question not attempted

How many types of vanshi named ‘Ekveer’ have
been described in Sharang Dev’s Sangeet
Ratnakar?

(1) 18 ) 14

(3 13 4 12

(5) Question not attempted

Vaggeyakar must have the qualities of -
(A) Gamak in all the three Saptakas

(B) Expert in Ragalapti

(C) Expert in Roopakalapti

(D) No need for concentration of mind
Code -

(1) (A), (B), (D) 2 (A), (O), (D)
(3) (B), (O, (D) 4 (A), (B), (C)
(5) Question not attempted

Match List-I and II in context of Sangeet
Ratnakar.

List—I List-I1
Contents Chapters
(A) Murcchana, Tan (i) Sixth
(B) Vaggeyakar (i1) Fourth
(C) Prabanddha (iii) Third
(D) Instruments (iv) First
Code -

(1) (A)-(i1), (B)-(i), (C)-(iv), (D)-(iii)
(@) (A)-(ii), (B)-(iv), (O)-(), (D)-(ii)
() (A)-(iv), (B)-(iid), (C)-(ii), (D)-(1)
(8) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(5) Question not attempted

91.

92.

93.

94,

95.

fA=ifeiRad o &1 4 Y=g aRi arel @l &1 Fae
DI —

(i) feersar

(i) =

(iii) FaR

(iv) arafer

(v) IR

(1) (i), (iid), (iv)
(3) (i), (i), (iv)
(5) 3rT<IRe UeA
AT SR SMIH®T Sell ¥ dR W 98 @)
3R ST HEAT & —

() (i), (iii), (v)
@) (iii), (v)

(1) |fg (2) y=
(3) f5= (4) TRgBHAA
(5) Srg<iRd U

WMEed Hd G AR § THAR 96 990
@' fre g gamg g F?

(1) 18 2) 14
@) 13 4 12
(5) IR w2

qRIER H B O FT BT MaTH 872
(@) I Tet # TE

() rTTente # fgor

() wusTenta H fgor

() faxT @1 THTIAr &1 AT 81

TS —

M @), @), )
@) @). @.

2) @), (4, ©)
) @&). @), @)

(5) SR ueA
G TR @ e H aiferdr—1 iR I &)
e —
arfermT—I arfera—Ix
AR T
(&) T, a (i) BaT
(@) AR (ii) =g
() wa=r (iii) g
(&) @™ (iv) 9|
Frs —

(1) (@)—(ib), ([@)-@1), (@)—Gv), ($)—(ii)
(2) @)—(ii), @—Gv), (@), (€)—(D)
@) (@)—Gv), @)—(iD), (#F)—Gi), (€)-@1)
(4) @1)—(1), @)—(i), ()—ii), ($)—(v)
(5) 3r<iRd ued
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96.

97.

98.

Who amongst the following is not a disciple of
Vazeer Khan of Rampur Senia Gharana?

(1) Hafiz Ali Khan (Sarod)

(2) Halim Zafar Khan (Sitar)

(3) Pramath Nath Bandopadhyay (Rudra Veena) .
(4) Alauddin Khan (Sarod)

(5) Question not attempted

By the inspiration of Vishnu Digambar Paluskar,
P. Sundaram prepared which violin-disciples for
the North Indian style in Mumbai?

(i) Dhundiraj Paluskar

(ii) Raghunath Rao Patwardhan

(ii1) Shankar Rao Pathak

(iv) Satyvrit Panwar

(1) Only iii, iv (2) Only i, i, iii

(3) Only i, i1 (@) All i, ii, ii, iv

(5) Question not attempted

Which notation related signs are visible in
Sangeet Ratnakar?

(i) All songs written in notes are set to Tal.
(ii) One tab or three notes are marked in one be
(iii) Dot above the ‘Mandra’ Swara.

(iv) Vertical line above the Taar Swaras.
(1) All i, ii, iii, iv (2) Only i, 1i

96.

97.

98.

fefifad § 9 ®19, IHgR [T BRH & a9k
@ & B =8 €7

(1) B arell &I (WRIE)

(2) T SR @l (RFAR)

(3) A Ty AU (Wg 4Iom)

(4) IrATSE @i (JRI<)

(5) Srgie ue

fowy femey ugReR @1 WRem 9 0l ged |
98 # SR MRAE el =g anfes @ b
frst @t quR fear?

(i) GERTST Uwhy

(i) TYRRTE gead

(iii) ¥R G USH

(iv) TTgd 4drR

(1) Badiii, iv (2) Baat i, ii, iii
(3) Badl i, ii (4) | 1, i, i, iv
(5) 3rgRa we

i Y] § wRfaft Wt o daal &
T3 &7

() T4 wRifea Ma qreeg 2 |

(i) T W= H Tep, 7 AT A W ifHa B |
(i) HE' "R @ W g 2|

(iv) TR TR & SR sl A4 & |

@) Only i, iv O (1) =1 i, i, i, iv (2) Bad i, ii
(5) Questio;l not attempted Ly ke
(5) arg<iRa U
99. Paat is - 99. giq § —
(1) Playing with middle finger only (1) Dol Tegar ¥ IAMT
(2) Playing with four fingers (2) TR Sford} o 99T
(3) Playing with index finger only (3) o Tt & T
(4) Playing with ring finger only (8) BaeT SRS § T
(5) Question not attempted (5) orgefe W
100. Rudra Veena’s “Tumba’ near the pegs is kept at  100- &g €ior &7 a7 &iT gfedl & $a B &, $59
which place while playing? qoIlg 9T el U YT Sl &7
(1) On floor (1) o9 W
(2) On right arm (2) <4t 9 W
(3) On Thigh (Right side) (3) 99 R (@ 3R)
(4) On left shoulder @) 9% BT W
(5) Question not attempted (5) argaRa Ue
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101.

102.

103.

104.

105.

The biggest string instrument used in orchestra
which provides basic rhythm foundation and
played by placing it upright on the ground -
(1) Double Bass (2) Guitar

(3) Violin (4) Viola

(5) Question not attempted

Which statement is false regarding bow

movement of Violin?

(1) For fluent and well-organized playing it is
appropriate to operate near the beak of the
bow stick.

(2) To produce deep notes, the pressure of the
index finger should be increased and the hair
should touch the strings with full width.

(3) It should be played in the widest part between
the bridge and finger board.

(4) The bow should run parallel to the bridge
from one end to the other.

(5) Question not attempted

Which folk Instrument of Rajasthan are not
played with bow?

(A) Jantar

(B) Chimta

(C) Chautara

(D) Pungi

Code -

(1) B, C, D only (2) A, B, C only
(3 A,B,C,Dall (4) A, C, D only
(5) Question not attempted

Which of the following pair of (Text-No. of
‘Mel’) is correctly matched?

(1) Sangeet Ratnakar — 20

(2) Swarmel Kala Nidhi — 21

(3) Sangeet Darpan — 19

(4) Rag Vibodh — 23

(5) Question not attempted

How many Thaats are there containing all vikrit

swara (R G I\lflg N) in the 32 Thaat process
Pt. Bhatkhande?

(1) Five (2) Ten
(3) Four (4) One

(5) Question not attempted

101.

- 102.

103.

104.

105.

g gred H Ugdd e §91 a1 dre, Sl S
I YT d¥h GolldT Il %HQJTW‘EW
A g HRAT & —

(1) S 9199 (2) frer
(3) arafer (4) graTel
(5) o <ING U=

qEafe™ @ T Gdled Heg § B HUH

I &7

(1) &R yarE e gIaReId dred 8 TS &
I & U &l dared Sfud 2|

(2) TR TR FThra & doril el &7 d1d
o 12T |

(3) gea T WK ufedT & = 99 w9 Al
AT ¥ AT MR |

@ TS BT UH R Y TN R T@ g9 @
AR FAT ARV |

(5) S/l U

ORI AP TIIT & B a1 9 I arfed

T8 87

(31) SR

@) fomer

GIEISIE

() g

S —

(1) paad 9, 9, &

(331, 9 9 5 I

(5) IR U

fFeafoRad o a=ar g [@u—ad’ | |8

gfera 27

(1) | IR — 20

(2) WA HATE — 21

(2) B 31, 9, 9
(4) Bgad 31, 9, ©

(3) 1T gUoT — 19
(@) 37 fag®y — 23
(5) 3rRa wed

WS o 32 ore uRpw ¥ R T Ay fY)
T fAepd wR gad fhan e &7

(1) gr= (2) 5
Q) IR (4) TH
(5) SR U
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106.

107.

108.

109.

110.

Which term is used for instruments in
Natyashastra?

(1) Atodya (2) Stom

(3) Yam (4) Stobh

(5) Question not attempted

shurtis are added to the Rishabh. It is called

‘Gandhar’ or Panchshruti (3+2) - Rishabh.

Reason (R) : The change in name is done so that

two names of the same swara do not appear in

the same ‘Mel’ or ‘Rag’.

(1) (A) is comrect and (R) is the correct
explanation of (A).

(2) (A) is false and (R) is true.

(3) (A) and (R) both are false.

(4) (A) is correct and (R) is not the correct
explanation of (A).

(5) Question not attempted

Which of the following statement is not correct?

(1) Both violin and viola have similar ‘C’ flame
holes.

(2) Nicola Amati played an important role in th

development of the violin.

(3) V.G. Jog used the sympathetic strings in the
violin.

(4) The viola family was well established even
before the violin family.

(5) Question not attempted

The term ‘Kala’ is being used in different senses.
Indicate it in the context of “Taal’ -

(A) Guru (Accentuation period)

(B) Part of Taal

(C) ‘Sashabda Kriya’

(D) ‘Shushkakshara’

(1) Only Cand D (2 B,C,D

(3) Only A and C (4) A,B,C

(5) Question not attempted

Pt. Omkar Nath Thakur, guru of N. Rajam ;

belonged to which Gharana?

(1) Jaipur (2) Etawah
(3) Gwalior (4) Patiala
(5) Question not attempted

106.

Assertion (A) : In the medieval texts — When  ' 107.

Gandbhar is given the title of ‘Re’, then two of its

108.

109.

110.

degerE ¥ gl @ fov few s & v
BIAT 87

(1) arrere (2) M

(3) THq (4) =™

(5) s e

IMHEAT (A) : TIEEH T H TR @ O

RECI RS RGBT IS CA R (NR A

o il # S & 9§ 99 TR st

UGYRT (342)-—TT BHET T B |

RO (R) : A1 ¥ uRgd= gwfere fear mar ©

& & & A A UB B T H, TF B W

@ & FF 9 37 Uy |

(1) (A) T & 9T (R), (A) P & IR 2 |

(2) (A) 39T AT (R) T & |

(3) (A) TAT (R) T 3T B |

4) (A) 93 & fBFg (R), (A) BT 2T = 78
2l

(5) SrgaRd ueA

for=foRea & ST $u s/ 27

(1) arafers o araer <91 999 99 ¥ C
%olF g B €

(2 arfes & oo 4 Foer MRl &
HEwaqul AT W& 2|

(3) QIS SIRT 7 arferd ® avd & AR} BT WA
faar |

(4) arare YRAR, arafer IRaR | gl & gof
yfaftsa e

(5) e wed

qrel & ey ¥ ‘Gar Gsm &7 ganT fea-fea

et # forr am 8, 3fra HIkE?

(A) TS (TR ST)

(B) AT HTiT

(C) avres foar

(D) PR’

(1) a7 C A D

(3) daet A TaT C

(5) SFRIRE ue

T, IS & [, U, HER A1 SR e v

3 oY

(2 B,C,D
4 A,B,C

(1) STagR (2) geTar
(3) TarferaR (4) yfegren
(5) JrfaiNa U=

29 -
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111,

112.

113.

114.

115.

According to Shadav, Audhav distintion of
Murchhanas described in Natyashastra, which
option is not matched correctly?

(1) Shadja Gramik Shadhav Murchna - 28

(2) Madhyam Gramik Shadhav- Murchna -.20.
(3) Shadja Gramik Audhav Murchna - 21 =
(4) Madhyam Gramik Audhav Murchna - 14
(5) Question not attempted

In which of the following scriptures the names of
22 shruti’s like “Teevra, Kumudwati, Manda
...etc.” are mentioned?

(1) Sangeet Makrand

(2) Rag Tarangini

(3) Sangeet Samay Sar

(4) Sangeetopnishatsaroddar

(5) Question not attempted

In Shiv Matt, how many Raga-Raginis are there?
(1) Raga 5 - Raginis 30

(2) Raga 6 - Raginis 36

(3) Raga 5 - Raginis 36

(4) Raga 6 - Raginis 30

(5) Question not attempted

What changes are seen in the course of
Indianisation of violin?
(1) Thickness of string
(i1) Position of playing
(i11) Tuning method
(iv) Length of Bow

(1) Only ii, iii, iv (2) Only i, ii
(4) Only iii, iv
(5) Question not attempted

Match the following —

(A) Bhatt Lollat (1) Bhuktiwad

(B) Shankuk (i1) Anumitiwad
(C) Bhatt Nayak (ii1) Utpattiwad
(D) Abhinavgupt (iv) Abhivyaktiwad
Code -

(1) (A)-(iv), (B)-(1), (C)-(ii), (D)-(iii)
(2) (A)-(D, (B)-(id), (C)(iii), (D)-(iv)
(3) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
(4) (A)-(i1), (B)-(iii), (C)-(iv), (D)-(1)

(5) Question not attempted

111.

112.

113.

114.

115.

Aege ¥ aftid qeoe & ured, oflsg We &
IR B fawmed gHfera 81 87

(1) ve&1 A& yred =61 — 28

(2) 7egq WS wred JeoaT — 20

(3) veo WA sitsa TeoaT — 21

(4) we7e WA silsa g=o+1 — 14

(8) argaiRa g
FrefoRea 9 & fw vo 4 dan, sgefa, H1a
______ gaaTfe” 22 ol & M aftid €7

(1) i Hpve

(2) 3T ROl

@) wifia w9a ¥R

O R HINIRIEEREN AN

(5) Sr<IRa U2

Rra #7a #, fvan —afien 82

(1) ”AT S - /AT 30

(2) =77 6 - =TT 36

(3) I 5 - AT 36

(4) R 6 - NIFTHT 30

(5) IR U=

IR & ARATADPROT & HH H [T gaalrdl bl
T ST 87

(i) aRI P A

(ii) ares Rerfa

(iii) Aot fafer

@iv) T CARCEIE]

(1) ®aaT i, iii, iv (2) Ba< 1, ii
(3) &I ii, iii (4) Hadt iii, iv
(8) 3rgRa U=

frfaRaa &1 gafera S —

(A) Mg Aleere (i) Yferere

(B) Y (ii) 3rgfAfaars
(C) 9T I® (iii) SfETe
(D) AT (iv) sTreafaare
T —

(1) (A)-(iv), B)-(1), (C)-(ii), (D)-(iii)
(2) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)
(3) (A)-(iii), (B)-(ib), (O)-(3), (D)-(iv)
(@) (A)-(i1), (B)-(id), (O)-(v), (D)-()
(5) SR wed
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116. Which is not correct in the context of Surbahar?

117.

118

119.

120.

(1) Its pitch is higher than sitar.
(2) Alap Jod of Veena can be played on surbahar.
(3) It was created after sitar.

(4) It is not mentioned in Ancient and Medieval -

Text.
(5) Question not attempted

How many strings are there in the French Violin
named ‘Quinton’?

(1) Five (2) Four

(3) Six (4) Seven

(5) Question not attempted

- Which of the following statement is false?

(1) 57 means Kedar and P-R means Malhar.
Hence ‘Meend’ is a ‘Raga Vaachak’ symbol
in Indian music.

(2) The process of taking ‘Meend’
according to the nature of instrument.

varies

(3) The ascending Meend is called ‘Vilom’ and

descending Meend is called ‘Anulom’.

(4) The “Vali’ variant of Gamak is currently

called Meend.
(5) Question not attempted
Match the following —

(Bow Instrument)  (State)
(A) Pena (1) Bihar
(B) Banam (i1) Manipur
(C) Villadi Vadyam (ii1) Tamil Nadu
(D) Surinda (iv) Rajasthan
Code -

(1) (A)-i, (B)-ii, (C)-iii, (D)-iv
(2) (A)-ii, B)-1, (C)-iii, (D)-iv
(3) (A)-iv, (B)-iii, (C)-1, (D)-ii
@) (A)-ii, (B)-iv, (C)-iii, (D)-i
(5) Question not attempted

The abundance of long syllables and contraction ™!
of vocables, are the characteristics of which =

‘Geeti’?

(1) Ardhmagdhi (2) Sambhavita
(3) Prathula (4) Magdhi

(5) Question not attempted

116.

117.

118.

119.

120.

GREER @ Hed d 7 |l A8 87

(1) eafy 51 <Fraar AR & o1f¥e 2 |

(2) o & ST e B YRR H A I
T AT 2 |

(3) THa! SRy AR & 918 &8 |

(4) ST ToorE YA IR TS dell
Tl firerar |

(5) 3rgIRa we=

e e hd aEferd # fas ar gl

g?

(1) gr= (2) TR

() = (4) \ra

(5) SrgaiRa e

fer=forRaa & iar weF sRTg 87

(1) 73 ¥ PR, 9 A@R dEd 2| A HIS
G-% R WA § wwraree 7w 2

(2) e’ o w) wlpar Al @yl & AR
R 2t &1

(3) ARE B! His M q= SaRIE bl His Dl

M i HEd & |
(4) THF BT T WS IoAH | A BT B |
(5) ST ge
gafera sifvg —
USECIE)) (e W)
(A) U= () fagn
(B) 719 (ii) AR
(C) TSl arerq (iii) TG
(D) gRar (1v) TSI
e —

(1) (A)-, (B)-ii, (C)-iii, (D)-iv

(2) (A)-ii, (B)-i, (C)-iii, (D)-iv

(3) (A)-iv, (B)-iii, (C)-i, (D)-ii

(8) (A)-ii, (B)-iv, (C)-ii, (D)-i

(5) rgIRa U

e SRl @7 nftrey Tor Ugl &1 HorE, fhw

fifer &1 Ferer 87

(1) SpefrTedt (2) Hwifaar
(3) geyat (4) ATTER
(8) argaiRa U
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121. The intensity and pitch of sound is related to —

(1) Frequency, Diffraction
(2) Harmonics, Discord
(3) Amplitude, Explication
(4) Amplitude, Frequency
(5) Question not attempted

122. Which of the following pair (Instrument-

Generally used no. of Strings) is not matched?
(1) Octo Bass - 4 (2) Double Bass - 4

(3) Violin - 4 (4) Cello - 4
(5) Question not attempted

123. Increase in Resonance of Tabla depends upon - 123

(1) ‘Gajra’

(2) Length of ‘Baddi’

(3) ‘Syahi’ on Tabla’s face
(4) No. of ‘Gattas’

(5) Question not attempted

124. Which of the following sequence (Ghar.
Instrument-Musician) is not matched correc

(1) Maihar, Guitar, Braj Bhushan Kabra
(2) Darbhanga, Flute, Timir Varan

(3) Gwalior, Violin, N. Rajam

(4) Senia, Sarangi, Sabri Khan

(5) Question not attempted

125. Which instrument prevalent in classical musicis 125

similar to the folk instrument ‘Jantar’ of

Rajasthan but more developed and refined?

(1) Sarangi (2) Rudr Veena
(3) Sarod (4) Santoor
(5) Question not attempted
126. Which term is used for the ‘long sustained notes’  126.
in Violin?
(1) Arpeggio (2) Scarleti
(3) Collegno (4) String crossing

(5) Question not attempted

121.

122.

124.

AT BT AT T TRAT HA: foaw Heferd €7
(1) smafy, Rrad

(2) arradie, favarar

(3) FHIRR, fageiyor

(4) Fefiear, ARy

(5) 3rgiRa U

fefafad & 9 SR I (@R—aE:
TR AR ) gHferd Tl 57

(1) sffeer a9 — 4 (2) Sgo1 99 — 4

(3) grafer — 4 (@) =l — 4
(5) Sr<IRd UeA
dael # o @1 gfg 5 wRor 8l 87

(1) Tomr

(2) g B raTE

(3) d9cl & I@ W HRl

(4) Tl @1 HEa

(5) rIRG e

frfaRag oA H9 (SRET—aR-Gdas)
BT e GAferd el 8e

(1) #2x, IR, FSTEOT BTa=T

(2) ==¥m, IR, fafR 9=

(3) TarforaR, Irafer, . I

(4) Afr, 9, AR @t

(5) 3R U

I S H wEfera S arel, o &
g aen uRepa 87

(1) | (2) w5 dron

(3) W (4) R

(5) SR ue

qrafer H ‘o g VR auH @ o fod
RIS BT GG fehar Iem 87

(1) IRURS=T (2) TBTeicT

(3) el (4) Rgar wifdfa

(5) 3R I
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127.

128.

129.

130.

In the scriptural terminology related to Mridang
playing, which pair of (Textual Term - Types) is
not compatible?

(1) Pani — Sampani, Ardhpani, Panchpani

(2) Prabandh — Aalipt, Addita, Vitast

(3) Marjna — Mayuri, Ardhmayuri, Karmaravi
(4) Prahar — Mukt, Nigrahit, Ardhnigrahit

(5) Question not attempted

Which option is not related to the pure
independent orchestra (which is not presented as
an accompanyment)?

(2) Concerto

(4) Opera

(5) Question not attempted

(1) Symphony
(3) Sonata

Assertion (A): The string instrumentalists tries
to exactly imitate the flow and sound of the
human throat on the instrument in the ‘Gayki
Anga’ means reproduction of vocal music.
Reason (R): In Carnatic music, pure “Tantrakari
Anga’ is used on the instruments. There is no
separate ‘Gayki Anga’.

(1) Both A and R are true.

(2) Both A and R are false.

(3) Only A is true.

(4) Only R is true.

(5) Question not attempted

Which component is responsible to make the
Raso perceptible through Angik, Vachik, Satvik
and Aahary act?

(1) Sanchari Bhav (2) Vibhav

(3) Bhav (4) Anubhav

(5) Question not attempted

127. ¢ qreq W WO wrEad el § Bl

128.

129.

130.

T (ArETad AT — WE) gAferd el 87
(1) qrfdr — waTfdy, Srgurfor, Seuror

(2) yay — arford, srfgsd, faaw

(3) HISTAT — L, JFEAR, BHERM

4) U8R — qa&a, g, sEfEa

(5) SRR T3

Frafoed § 9 s e wda e 4
Gt 7El & (R warT | a & w9 d |

B1)?

(1) Ryp=it (2) Biaet
(3) |AET (4) 3O
(8) argaRa ue

FfHeE (A): TEE ST H qA gD HAd
%3 B 98 IR THAG DI gEg, ThA DI DI
YT Pl B, AT Ho I BT GAvcare |
HRU (R): FAcad @G 4 el W gF
TAGN ST BT YA fHAT AT T | ST W
MIBT T T8 B |

(1) A 9o R SH 9 21

(2) A T2 R SHI 3T 2 |

3) BaT A ¥ T

(4) ¥9aT R 9 T |

(5) sraRa T
1ifrep, aiferes, A qem MR AWl R
SRS ART M, T FT BT AT &7

(1) FFERT 919 (2) fomrra
() v (4) 37T
(5) argalRd wed

131. Who is considered to have started violin in 131-®afes fia # amfeq @1 uRY foae g™
Carnatic music? HFT ST &°
(1) Baluswamy (2) Ramaswamy k _
Dikshitar Iyengar (1) aregeari TeraR () RIEr AR
(3) Muthuswamy (4) T. Saraswati (3) gardt AR (4) 1 W
(5) Question not attempted
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132. Which artist took training from Allauddin Khan 132 {5 ®eflbR 7 [THed @ I TShT el |
in Gathkari Style?

(1) G.N. Goswami (2) Gagan Chandra Rt <f1?
Chatterjee (1) SiTeA. AT (2) T =@w del
(3) gzig;)dar Kesav  (4) P.D. Saptarishi () TEIeR ST TR (8) RS TR
(5) Question not attempted -".:5-:;“”:.", (5) argafed e
133. Which country is considered to be of paramount 133. qrafer &1 9w W@y <9 H, fhg 29 @1
importance in giving the violin its present form? MM [AOR JHT ST 27
(1) England (2} Ttaly (1) groive (2) geolr
(3) Germany (4) France (3) T (4) g
(5) Question not attempted (5) srgaRa e
134. In Sangeet Ratnakar, what is the common term  134. Giflg Y1 # 1q &F 91 W) 999 & A=
for different ways of playing song on : : ;
instrument? ’ e : g %g ARSI =
(1) Katup Vadya (2) Vadya Prabandh ) &g e (2) arey e
(3) Aatodya Vadya (4) Geetanug Vadya (3) rairer arer (4) T are
(5) Question not attempted (5) s T
135. Which is not correct in context of Ravanhatta? 135. Y7qurgeesT & HeH # T Wel J8) 87
(1) It is made of big size Pumpkin Gourd. () ?ﬂﬂ 1 IS MMBR T DHeg A I Bl
I
(2) It is one of the oldest instrument of Rajast @) 7% SR—— —_—
(3) Main string is made of horse’s tail hair. (3) 3wl = dR B @ UP B e § I
(4) It is played with Bow. BT 2|
(5) Question not attempted () S T % AT FAA X E |
(5) araRa U
136. The term ‘Sikhar’ was used for which type of  136. /R o ‘&ild AR # ‘RER’ T &1 U0
instruments in Tansen’s ‘Sangeet-Saar’? fobt arei & fow fasar T 287
(1) Ghan (2) Tat (1) =5 (2) 79
(3) Avnaddh (4) Sushir (3) a1 (4) g
(5) Question not attempted (5) SrRa o=
137. Which of the following option represents ‘Aad  137-f=foiRaq & 9 @491 ey ‘sme o@ @1
Laya’? guIar 27
(1) Writing two in three beats (1) O w1 H <1 o

(2) Writing four in six beats (2) B 73T & 9N forgT
1 (3) der &= H AT forg=
(4) Writing six in four beats (4) IR 937 § o8 forgl

(5) Question not attempted (5) argaRa we

(3) Writing seven in five beats
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138.

139.

140.

141.

Which out of the 18 parts of Veena playing are
played in ‘Drut Laya’?

(1) LadGuth, Sath Sangat, Jhala

(2) Barabar Ki Jod, Gamak Jod

(3) Bhog Varna, Ladi Jod

(4) Antara Varna, Sanchari Varna

(5) Question not attempted

‘Kurula’ Gamak is similar to which of the

following?
(1) Ghaseet (2} Jamjama
(3) Kan (4) Krintan

(5) Question not attempted
Which statement is false regarding the two
instruments that influence the playing style of

string instruments Rabab and Been (Rudra
Veena)?

(1) In Rabab, the ‘Swara-bharaav’ of note lasts
due to ‘Chikari’, whereas Been does
consist Chikari.

(2) Rampur Nawab Haider Ali and Vazir Khan
were famous players of both Veena and
Rabab instruments.

(3) Rabab is without frets and ‘Been’ is an
instrument with frets.

(4) ‘Been’ has more scope for ‘Vilambit Meend’
than ‘Rabab’.

(5) Question not attempted

In which areas is the use of Violin equally visible

in North Indian and South Indian music?

(1) Vocal accompaniment

(ii) Solo playing

(ii1) Orchestra

(iv) Subjects Studied in educational institutions:

(v) Light music and background music

(1) Only ii

(3) Only i, ii, iii, iv

(2) Only i, iii, iv, v
@) 1, 11, 111, 1v, v

(5) Question not attempted

138.

139.

140.

141.

§i9 ares (@9 99) $ 1AM § | DI gd
T W 9N O 87

(1) SfgTer, 1 JTd, $lell

(2) R BT TS, TG IS

(3) w7 Ui, TS A

(4) sfawT 9vf, F=wT gof

(5) Srg=iRa o

HHel TG T # F fae wwE 87

(1) eI

(3) ®oT

(5) argaRa ued

Tt @ areT I @ gwifdd BRe arel &l

eI T 419 (pg diom) & Heg H Bl

PHUT I B7

(1) wEE 4 el & $R WR—HE  Fodl
| 2, 9 Renr 78 8k

(2) YR AaTd $E Sl Tl TR @, G qen
9 ST el @ U a6 o |

(3) Yarg wiRReT g der i QiR Jaa are
2|

(4) w9rg’ B gorer § 99 H, fAefed wis @
Torger fdF & B |

(5) arg=iRd o%

IR AREE T <R MR FHd # argtod

ST g4 GHM ©9 ¥ {5 & g 87

() Fo GIT BT |

(ii) Tada dred

(iii) 1T g5

(iv) freror TRerett # srgTe favy

(v) g AT qo ured Hid

(1) ®ad i (2) Ba ii, iil, iv, v

(3) daet i, ii, iii, iv. ) i, ii, iii, iv, v

(5) 3r<IRe U

(2) STHSTHT
(4) fopae
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142. Which of the following instrument is tuned to  142- for=ifoRad & & fopy @y &7 ol A 6 Tad

notes one ‘Saptak’ below the Cello? T B wWRI H A ser 27
(1) Octo Bass (2) Viola (1) 3ifFeT 9T (2) graTeT
(3) Double Bass (4) Violin (3) S5 I9 (4) Trafer
(5) Question not attempted  : (5) SrgaRa T
143. Select the “Trayodash Shruti Interval’ of Shadja 143 #gf¥ *RA & AR, T WS TG AR
Gramik, according to Maharshi Bharat — BT I BINY —
(i) Shadja — Pancham (i) 5891 — y=H
(ii) Gandhar — Nishad (i) TR — fAuTg
(iii) Madhyam — Dhaiwat (iii) &I — Sad
(iv) Rishabh — Dhaiwat (iv) o — gad
(v) Antar-Ga — Kakali-Ni (v) STER—TT — HIhiol—
(1) Alli, ii, iii, iv, v (2 Only i, i, iv M) L G dv, v (@) BEeL i iv
(3) Only i, ii, iv, v (4) Only ii, iii, iv, v (3) daei, i, iv, v (8) Bad ii, iii, iv, v
(5) Question not attempted (5) argalRa ue

144. Which facts are correct regarding Vipanchi- 144 fau=li—dion & Wdy § HI 20 Hal B¢
Veena? ] (A) 39 91T YE' A MR, Fheligad WRI A

(A) It was tuned in seven ‘Shudha’ and ‘Ari

[ERIDIRCIIII

Kakli swaras’. (B) SH&T dTeA ol A BT ST o |
(B) It was played with bow. (C) 398 R 3= oY |
(C) It had eleven strings. (D) 38 ‘HES—om 9 BET ST o |
gl;)];t WZS glso called as(‘zl;dzhtli-\f:ena’. 1) B G C @) Fae A

i Y (3) ATTD (4) 339 D
(3) Aand D (4) Only D
(5) =ik we

(5) Question not attempted
145. Among the characteristics of ‘Vaggeyakar’ 14531 Y=ae # afdfa ‘avigeR @& # A=

mentioned in Sangeet Ratnakar, select only the IR (ATIPR) W G eri &7 o= B —
characteristics related to ‘Vaak (Matukar)’ — )

. (i) IR

(1) Vakpatutva N

(ii) Subhag Geyta L0 R AT

(iii) Shabdanushasan Gyan (i) RASTIRT =

(iv) Ashesh Bhasha Gyan (iv) 3RS HTST S

(1) Only (ii) (2) Only (ii), (iii), ( (1) B (i) (2) Bad (i), (iii), (iv)
(3) Only (iii) (4) Only (1), (iii), (iv) (3) B (iii) (4) Bad (i), (i), (v)
(5) Question not attempted (5) rIRT weT
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146. Match the following — 146.

Main Musician Gharana
(A) Amritsen, Rahimsen (i) Lucknow
(B) Gulam Raza Khan (i1) Jaipur

(C) Zafar Khan (111) Gouripur
(D) Inayat Khan (1v) Indore
Code -

(1) (A)-ii, (B)-iii, (C)-iv, (D)-1
(2) (A)-, (B)-1v, (C)-iii, (D)-ii
(3) (A)-ii, (B)-i, (C)-iv, (D)-ii1
(@) (A)-i, (B)-ii, (C)-iit, (D)-1v

(5) Question not attempted

147. Double Bass is also known by which other 147

names?
(A) Contra Bass

(B) String Bass

(C) Contra Puntal

(D) Triple Bass

(1) AlA,B,C,D (2) Only A, B
(3) Only B,C,D (4) Only C,D

(5) Question not attempted

148. Assertion (A) — ‘Mohra’ and ‘Mukhda’ are the 148

same thing. There are two names due to the
difference in the place of their use in “Taal’.

Reason (R) — Before the start of ‘Theka’, come
to the ‘Sam’ by playing ‘Mukhda’. The ‘Bols’
from the middle of Taal and meeting on ‘Sam’

are called ‘Mohra’.

(1) Both A and R are false.
(2) Both A and R are true.
(3) Only R is true.
(4) Only A is true.

(5) Question not attempted

ffaRaa @1 gafera SISy —
T S BRI
(i) TITH
(i) STAgR
(iii) TRIGR
(iv) =R

(1) (A)-ii, (B)-iii, (C)-iv, (D)-i

(2) (A)-i, (B)-iv, (C)-iii, (D)-ii

(3) (A)-i, (B)-, (C)-iv, (D)-iii

(4) (A)-, (B)-ii, (C)-iii, (D)-iv

(5) rgaIRd ue

S 9 BT 5 o=y AW W W ST S 87
(A) BIUET T8

(B) fer w4

(C) PIogT et

(D) foaer

(1)@t A,B,C,D (2 &ad A, B

(3) ®9a B,C,D (4) ad C,D

(5) IR W

MBI (A) — =R T @S Th & dlo
2| qrer ¥ 576 WA & <UH YT W & A 8
SR B |

BROT (R) —THT RA 8 A I &Sl a1
T W AT B TH B 4 H WH W AT
foe & 9 HET B

(1) A @7 R S 3 2 |

(2) A 9T R SF1 9 2|

(3) B9 R I T |

(4) BacT A T B

(5) argaRa we

e W .
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149. What is the characteristic of the modern bow of

violin?

(1) Concave (2) Spherical

(3) Convex (4) Arched
(5) Question not attempted
150. Which of the following statement is false?
(1) The stick of the violin bow is made from
‘Pernambuco’ wood.
(2) The bow of violin is used at 90° angle to the
strings.
(3) Cello produces the highest pitched sound in
the violin family.
(4) In terms of size, the violin is the smallest

member of its family.

(5) Question not attempted

149. qrafersy & smyfie T @1 fafdrear @r 27

(1) FareR (2) =fshep
(3) IR (4) TR
(5) S aIRa U

150. fep=rforRad # & ST BT I 87
(1) qraferd 791 &1 B! TAGHT Abe! B I8
STl 7 |
@ g & T @ AR & 90° BT W
Haford fomar Sirar 2 |
(3) arafer URaR # waifrs aRar & safy v
I BT B |

(@) R B gfe ¥ grEafem e IRaR @&
Ha VIl 4 & |

(5) IR we
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Space for Rough Work /3% &1 & forg e
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